Multiplizieren 3 Algebra 9. Klasse

(1) Vereinfache.
a) (a+3)—(a—1) o (3r—4s)—(5s-2r)
b)  (5x-3y)—(3x—y) d) (5a+6b)’—(7b+4a)
(2) Multipliziere und fasse zusammen.
a) (a+b)(a—b) o) (a+2)(a-2)
b) (a+1)(a—1) d) (4+3b)(4—3b)
(3) Multipliziere und fasse zusammen.
a) (a+b) ) (2a-b)
b)  (a-b) d)  (a+3b)

(4) Esgilt: a@—b’=(a+b)(a—b) .Erganze.

(5) Esgilt: a°+2ab+b’=(a+b)’ .Erginze.
a)  a'+ +64=(a+8)’ o d+ +36 =(d+6)°
b) ’+ +81=(c+9)’ d X+ +4=x+2)
(6) Esgilt: a°—2ab+b’=(a—b)* .Erginze.

O +16 =(x— ) € 4a’- +4b° = - )



